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@ Solve each of the following trigonometric equations.

a) sin(f-45°)=sing, 056<360°
b) cos(x—30°)=sin(x+30°), 0<x<360°
¢) cos(y-30°)=sin(y+45°), 0<y<360°

d) sin(@-30°)=cos(p-45°), 0=<¢@<360°

e) cos(@-60°)=cos(@+60°), O<a<360°
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@ Solve each of the following trigonometric equations.
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a) sm(a-i--z =sind, 0<8<27
J
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b) cos[x+% =cos(.x+2—” . 050<2r
y,

A
c) sin(%—y)=cos(y+§-6"£ , 0<y<2xm (veryhard)
d) 2005(¢+g—)+sin(¢+-§)=0, 0<p<2r

€e) ﬁcos(d+%)=sin(0’+%} , 0<a<2rx

@ Solve each of the following trigonometric equations.

a) sin(0-20°)=sin(6+60°), 0<O<360°
b) cos(x—35°)=cos(x=55°),  0<x<360°
c) sin(y—48°)=cos(y+l2°), 0< y<360°
d) sin(p+72°)=cos(p—38°), 0<¢@<360°

e) cos(@-36°)=cos(@~72°), 0<a<360°
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